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L. In computer programming, a (semantic error) is a bug in a program that causes it to operate
incorrectly, but not to terminate abnormally.

a. Logic error b. Run-time error ¢. Syntax error d. One-time error

2. Augmented reality (AR) is a term

A) that applies to computer-simulated environments that can simulate physical presence in places in the real world
as well as in imaginary worlds.

B) that augments users capability to talk to other people over the Internet
C) that functions much like an answering machine, allowing callers to leave a voice message for the called party

D) for a live direct or an indirect view of a physical, real-world environment whose elements are augmented by
computer-generated sensory input, such as sound or graphics. '

r

3. is the appearance of motion created by displaying a series of still images in sequence.
a. Graphic b. Animation ¢. Audio d. Virtual reality

4, is a type of user interface that allows users to interact with electronic devices with images rather than text
commands.

a. Command-line interface b, Image processing  c¢. Graphical user interface d. Text user interface

5. is a general term for an area of computer science that is concerned with the intersection of social behavior
and computational systems. It has become an important concept for use in business..

a. Knowledge management b. Cloud computing - c. Operating system  d. Social computing
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